Jame  Name:

"~ Addition Challenge

Solve the equations.

1.36+36=__  1.29+28=__
2.96+36=___ 2.83+67=___
3.16+19=__ = 3.B54+54=_
4.54+58=__  4.13+14=___
5. 75+ 77 = 5.63+75=__
6.90 + 80 = 6 80+ 30 =
7.40 + 40 = 7.20+ 60 =
8.70+ 70 = 8. 70 + 40 =

9.60+ 80-= 9 80+ 90 =

10.50+70=___ 10.30+30=

Worksheet 3




Jambe  Answers

"~ Addition Challenge

Solve the equations.

1.36+36=72 1.29+28 =57
2.96 + 36 =132 2.83 + 67 =150
3.16 +19 = 35 3.54 +54 =108
4.54 + 58 = 112 13+14 =27
.75+ 77 =152 .63 +75=138

6.90+80=170 .80+ 30=110

7.40 + 40 = 80 .20+ 60=280

8.70+70 =140 8.70+40 =110
9.60 + 80 =140 9.80+90:=170

10.50+70=120 10.30+30=60

Worksheet 3




